HCH - TIMEFOLIO O|3S&P500UE| &

(5HS): Wargl)
2l Ch & 0j==(1) 0= (2) EX|M(1-2)
M7 FIX|$ ME 0 0 0 i
A FIHX| 5 ME 713 0 713 Ly
A 713 0 713
2. IMHME 7efof wE TH7] & px
150,000,000 o S
100,000,000 o
50,000,000
o
50,000,000
100,000,000

-150,000,000 ~—

3. A|lLj2|tHof o3t £olHF 110

4. Z||EAHFY (VaR : 99%, 10Y) 73
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C ™ . TIMEFOLIO O] LtAEHQOUE|E

(EH1: 2THel)
HEHcH A oi4:(1) HE(2) ZX|M(1-2)
M7 FIX|$ ME 0 0 0 i
A FIHX| 5 ME 408 0 408 Ly
A 408 0 408
2. TP AE Ajof w2 27| &=
80,000,000 | _— — | e o
60,000,000 ' ' -
40,000,000
20,000,000
(8] 1= ; — - -
20,000,000 ¥ T = = + 8.009%—
. o = %) — e
D = ~~ 2 —
-40,000,000 o o~ = = A = =
' o~ = =
m oo
-60,000,000

-80,000,000 ~———

(EH9l: )

3. AlLt2| 20| ozt £H T 63
(EH9l: )

4. Z|f2 M2 (VaR : 99%, 10Y) 50
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